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@ 1-2sin?A =2cos?A-1
@sin(A—i—B) =sinA +sin B

1
tanA  sinAcosA

® (sinA + cosA)? + (sinA —cosA)? =2

@ tanA +

~&B

@ 1-2sin?4A=1-2(1 -cos?A) =2cos?A -1

@ tand + 1 _ sin A c?sA
tan A cos sin
_ sin“A + cos” A
o sinlA cos A
- sin A cos A

® (sinA + cosA)? + (sinA — cosA)?
=1+2sinAcosA+1-2sinAcosA =2




7.

OJAAA] ¥ -3 = 0 & BESHE x 9 Zol tana o] g 2L

sinAcosA 9 27 (F,0°<A<90°)

O] @?

DN | =
®)
| =

V3
Ohs

~&B

x*=3=0 °f|A
=3, . x=V3( x>0)
tanA = V3, . A=60°(-0°<A<90°)

V3 1

sin A cos A = sin60° X cos 60° = - X 5=

V3
4




The F0l EE B x4y o e FoIH?

2Zte sin cos tan

14° 0.2419 0,9703 0.2493
15° 0.2588 0.9859 0.2679
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43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657
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32 0.53 0.85 0.62
33 0.54 0.84 0.65
34 0.56 0.83 0.67
35 0.57 0.82 0.70
36 0.59 0.81 0.73
37 0.60 0.80 0.75
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